Prove the following identities.

11.

13.

15.

17.

19.

21.

23.

sin? 6+cos? @

. sinfcotf = cos @

= secH
cosf@

sina—1
=tana —sec«x
Cos

sina + cosa cota = csca

cos B (cscO —sech) = cotd — 1

sin*x —cos*x = 2sin?x -1

sinf+tan 8

1+cospB = tan ’8

(1 + cscx)(1 —sinx) = cotxcosx

(1 +secH)(secf—1) = sinf secd

cosf csch

sinx cos x sinx
— = —(cotx cosx + cscx)

1+cosx 1-cos

secf _ secH+1
1-cos@®  sin2@
1+sec 1+cos @

=0

secf—1 cosf-1
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10.

12.

14.

16.

18.

20.

22.

24,
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cosAtanA =sinA

1+sin

- =14csca
sina

1 —sinB cosBtan B = cos? B

1 — 2sin?x = 2cos?x — 1

1
1-cos

cscB (cscf + cotf) =

tan* @ —sec*0 =1 —2sec? 6

0
secO +tanf = —>=

1-sin

(1+tanf +sech)? = 2(1 + secH)(tand + sech)

(csc — 1)(1 + csc) = csc B cos

secOsiné

sina+cosa cosa—sina

=2 —2sinaseca

seca+tana seca—tana

tanx _ 1-cosx

tan x+sinx sin2 x

sec?0(1+csc )—tan O (sec H+tan @) _
cs (1+sin )

1=0
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